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B% ol R 6-10 75-86 7.9 =
KR (mgh) 100 <20-22 20.8 7
BB AR R (me) 10 <2 <2 =
FEER (my) 2000 389 - 951 717 2
HAEMERE (mgh) 10 <0.5 0.5 2
FMEE (mgh) 0.! <0,040 + 0.061 0.045 2
RIERER (m) 100 <15-42 24.] 2
MBS (mgl) 20 <10 <10 2
BeEE (meh 0.5 <0.3-0.39 0.32 B
Eer AR (mgh) 1 <06-0.72 0.62 =
HHEHEER (mgh) 15 <7 <7 2
EETEE (mg) 2000 210 - 500 331 =
HBE (mgh) 200 24-74 39 A
BE (C) 43 30-34 7 =
MIYMA _ | RIEHER | BT EMENT ) =
EBE&R - :

B (mg/) 2 <0.4 <0.4 2
$8 (mgh) 5 <l <l 7
38 (mg/) 0. 01 <0.1 2
#8 (mg/) 1 <0.3-0.38 0.32 =
#3 (mgh) 2 <0.5 - 0.84 0.65 2
g5 (mg/) 2 <l <1 i
$ (mg) 5 <0.2 <0.2 piy
& (mgh 0.05 <0.05 <0.05 =
# (mg) — 2 <1 <l 2
R (mgh) 2 <04 <0.4 2
# (mg/) 5 <] <1 o
# (meh 2 <l <1 2
HESHREBRS (mgh) 10 <1-73 7.) 2
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W (mgh) 5 <l <1 S
B (mg) 10 <2 ) Z
Y K
Aldrin (mg/l) 0.01 <001 - <0.01 =
BHCS (mg/h) 0.01 <0.01 <0.01 2
REZHE mgh) | 001 <001 <001 _ _ R
LEBPHAEESY:
B (mg) 0.1 <0.06 <0.06 2
WREEEY:
1LILI-Z 8 Z H(mgh) 0.05_ <0.025 <0025 =
HEME:
HEBEARE (mgh) 0.003 <0.003 <0.003 )
B EYR :
8 ERBEHRHRE (pel) | 10000 <10000 <10000 o
#%-226 (pe/l) 30 <30 <30 2
| $8-90 (pe/l) 100 <100 <100 B
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2 EHRE GER FHY FERE
- (B/E)

BF—87 v
B &8 I (7K) 8 ("‘g)& R 12.2-12.7 12.5 &
ERERtE % |° ‘%F"a 47-90 03 2
EEEE '
3% (ppm) 0.5 <0.5 <0.5 2=
5% (ppm) 0.1 <0.02 <0.02 2
KB R (ppm) 10 <05 <0.5 2
# (ppm) . <0.5-43 0.9 .
% (ppm) - <0.5 <0.5 -
i (ppm) <10-1.5 1.0 -
# (ppm) <05-49 0.7 -
OIS A -y
# (ppm) 20 <1 <1 7
#H1¥ (ppm) - 10 <5 <5 oA
FEER (ppm) 10 Q.0 <2.0 yis
LD (ppm) 5 <5 <5 2
: Pt - L
HauERYE ,
FBREER
(opm) 10 <5 <5 iy
AEEBAE
(ppm) 2 < < o~
2 EBE%E (ppm) 1 <l <) 2
TCDD (ITEF %) 1 <l <l 2
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TOTAL P.0O07






